
ΣΑΤΣΟΣΗΣΕ΢ – ΠΑΡΑΓΟΝΣΟΠΟΙΗ΢Η 
 

 

Α΢ΚΗ΢Η  1 

 

 

Α΢ΚΗ΢Η  2 

 
Αν  α + β = 1, να δείξεηε όηι  : α

3
(β+1) – β
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(α+1) = α – β 

 

 

Α΢ΚΗ΢Η  3 

 
Αν   αβ+ βγ+ αγ = 1, να δείξεηε όηι  : 

 

αβ(α + β) + βγ(β + γ) + αγ(α + γ) + 3αβγ = α + β + γ . 

 

 

Α΢ΚΗ΢Η  4 

 

Αν αβ ≠ 0  και  
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β
+

β

α
= 3 , να δείξεηε όηι : α(α
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Α΢ΚΗ΢Η  5 
 

Αν  α + β + γ = 1, α
2
 + β

2
 + γ

2
 = 1  και α

3
 + β

3
 + γ

3
 = 1  να δείξεηε όηι 

ένας ηουλάχιζηον από ηους  α,β,γ  είναι μηδέν . 

 

 

Α΢ΚΗ΢Η  6 
 

Αν  α
2
 + β

2
 = 1, x

2
 + y

2
 = 1 και αx + βy = 0,να δείξεηε όηι  αβ + xy = 0 . 

 
 

Αν  αβγ = 1 να δείξεηε όηι      1
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